spectrum number fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

& and x

0.5

Mean Spectrum

Fe2 4% 040 km/s
BLR 3000 NLR 900 km/s

rm977

0.6

0.4

0.2

AVG

cont

Pl TN

6000
A (R)

L

by
10060

BLR

-0.2

8000

RMS Spectrum
BLR 3000 NLR 900 km/s

R ey -

0.5

raw

| RMSx

11 I 1 IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIImIIIIIIIIIIIIIIIII 3

10080

4000 5000 6000

A ()

8000

x(A\t) = ( Data — Model AC5 ) / o X
/(413550-5088)=0.743=>1.007

6.75

e R R ARG R T SR A

\“‘:“‘:‘:“"\l‘“:“v‘l“:‘“‘”‘H AT et e e RN

80

R e

i L R R ~
LD e i

T T e
3 A A i R A ity | i il -
e b R R el
w‘,u‘&g\‘\\;mqﬂ““i‘l“g"m"ﬁwl"‘"W)‘:‘iu;“,ww l AR C‘A“‘W“,‘Jm""‘,“[\“\\v"“‘\{‘\.‘l“;“"v“.“{“]‘ 1 }““H‘(“‘\ﬂ"\““,"\ °
[ it s s utntelen bt TR I e R b W O Rl e
e bl e e A A i
A S
A R A MM oA A PR U RS PR T
il AT ISR
S e e i
TRl e “""."“‘\\““J“,“ T “:I‘“‘\‘\‘“‘:“\‘!“\I\‘\‘E\\\\\\‘ o
vl :“11‘“1’«\ i ! J‘,‘;‘::mm‘ e A O !

ittt
[ Y

“ ‘w‘ w‘ Iy ““l‘:‘m ! I
L

i el
i LT | il e
i I BT SR

! A e M!;‘“‘!“L;‘:u‘lr\u1\0“““"|”‘;H ; N."‘\f"‘.“w,“l“m;“‘u‘;‘“‘w

MM

8000

u = 0.014(18) x = 0.837(73)
med(mad)

=> 0.837(73)

1.5

wallibed sl L

e

uha, il A

Mkalbl i Yo st k) e AR PERTY TY I T RO

5000 6000

A (B)

f) (10717 erg em™2s7'87")

-0.5

15 20

BLR
10

1.3

1.2

0.9

Continuum Lightcurve
med(mad)%
T T

Ac(6093R) 17% S/N 42

79384
8500

Qo838

8000
MJD — 2450000

35904 )
7000

46774
7500

BLR Lightcurve

MJD — 2450000

Corrections

rm977
- 1T rrrrrrr 1T 1 T 1
L " " " 1 " " " " 1 " " " " 1 " " " " 1 " " " " I-

7500 8000

MJD — 2450000

u = 0.0138(59) x = 0.832(17) => 0.832(17)
med(mad)
— T 1

o B o 1

R — A -
7500 8000
MJD — 2450000



